TM&SC{QJ, 5&/76»’?\19(/' /?/ 2JIl A (D:u) /O)

Y(,Sf(/‘a(ayj Learned ouwr '@rﬂ‘ Flare e
' \
(_DJ\'IC{U'?/\)HOJ‘«W\ )?mlcj

P ower Rale O%XXA‘: M+ X

§(4VV\ t (onsTant /}’)M/f,'})/e /?\.( /()' by

2/ (QJC(X) F b~7é¥/ )
0(/)/ /.\ ﬁ:;’ﬂ /A

P AN

n=f

)}

adt) + bdoy
o N

a,b CII'\;fAAf} {::7 @mc)‘(.m;
OMP tAIf W@mﬂ‘(wq] g&) s Xl—-l)( ""3
& 7[“’ and Q‘[)() = 2)(*2 TL\l; a;/‘ceol L h

what W‘L‘ ﬁm/\/ [q;f w{(&) b(fl\f\) 7[‘&Pb\g\(a/ technigues an
Yhe o efririon oF pae oferisarive”,



Lontoaat this example F(x)-= X -2x-3
(A Yeshrdags exnmple: £ ()= D X-2
(B) F~ £Y03)  and F'/Q.s) and P’(d)

aAnd AYopref thee <falfs 7ra,/h.a.//;

S olbafun

%‘(33 mceany TO §Méff.f.4/~e xX=3 N ) g
]LL“C. f‘\"\C}L(-;ﬂ Fl(‘x) 22X -2
0S/3) 2a(3)—2 =6-2 =[7- £ )

K):‘[Q,S—> MeANS to cubs flate X =2.5 s T3 ’[\/

e £'(a.5)= A(2.5)-2L= 5% f—@@
o) = ale)-a= 0 @FED




19
/ f':\ g
g[ﬂ/’\'\ccw( i~Yerp TAS

/
T“\L (.~ -“51\967\} 1o i‘fﬂ/)l‘\ op S\ ﬁf)(?—j }\4{ S/d/)( m:g(s)_.

\ A \( (L W 'y Lk W | |
af x=2s " 'm-”%’?.s)’ﬁ

~ Yo " "mfo)=-2
@FNJ Al % - vadbusy nhere he Pngent L
D) Norizoapal,
édl,wfv:
T Riwsrd e znér)&/:\
FM( OJ/ Y“‘/"J"‘h thert Fr 75"4;(:4)‘ inr AU f/// /‘)’L——O A
Thal ‘5

E nd all x-vatrl «here 7[)/)() 73

" i L tt 8y




}/\0\1‘0,5/\ D e/ ./q,f .f( pr.& ble s

E xamphe L Let ) = QSX X 17 . 13
Fod T CX)

) 7 X Hx?
g\o\“\-"" iy g}"ar/- hj {‘4.«-”'““’\ 10@() ays
Conslants « ot r flnc Fesms va{amu\'fvv( Skl Crom /9/7£bm

Q) 6

( S L (P A
Now fioy £ (
G o e

- @G )

Quie



-l 6l ¢

= (a__élé_ng 19 _ AT — 1%(6))( Clean wp

“

- 7 7 U

@) @3%”0){0 3= 47 — 17 ,_.13[6) rgwr')e wﬁh

f7 7X7~ [/ X7 ()oss w2 (N)MWS

i) + (lli)[ex ‘(‘,ﬁ,

Eomple > F01 =00 _ 3 Aa iy

7 11X
gﬂ(«quﬂ IZOW/‘JQ ¥ S  CoaffantSn //w{/ /éo)tac)ﬁ

ol GV - (35w

= (3.) X® - E.X'%'




e
=5
alieady wsed
9/ e fm«f\. d~ ‘
Cd S Fant mma ”/}/f
rale .

><2 (5 (/l)éé 7“\) Dower Rule
—t-(g}_) 3—

\
=l F /LGN Lo ol oA
(35'> (x%) (55-) 7 s ’
YXpients




fo): QYZﬂ/ atd Fias f//k)

= X =) ax T ConsPaatse proen

’(:(r\ C}\‘/f\.f’

~rdan here, e derivaf .y (S Cas

[X)"' j1$7‘ /.kt ,Wc{/uqu Twc)//‘dfv/f,nf



£7y)= __( X =)+ ax

) @) e

"Q,(lX) %O | J~;(1¥
= 4K +0O —4X




YY\JFL TGIAjﬁV\j' Line Prdklt/y\_r
Bk $x)= =X~ #9x* ~23x #15

Wy 1"\’\7(‘ I..‘l 7Lﬁv\ (/\/~
A 10,,\,{ Yoo Clope of ot Jine g
{ To Grap of £ af x=2.

§/f>‘_‘:\j_"’_2— We Need P Rad m:—?/(;)

57‘/‘47‘6; g e £ nd F ’//{/)

‘fhéf}‘«fn)‘f X a o F///f/
QI[X): O_f.{/x(_xg 1_7)(2‘—~;13)< +/5')

= /—3><2>+ ?/2x)—;23(z) F(5(0)

— _2x* +l1&x —23



Now  Sabsitate X =22 at £
?’/Z)\: ~ 2.2 +ig/2) -23

= 24 +36 =233
= —\2» +36 —23

= ALY -23




l\/‘ +he 42:«47‘ 7(’r~ face lv‘\( Vansenras x 22

(,(%QCIQG’V*AJ Tﬂ/\j(’\f L L -Tb\c_./rj

@ RC&@(/ ](;/N\ /)/‘lu /»S‘ Cé“\ffﬁf} .7.1,\&
WDyint Slope Fom Yoo phe e;we,; £~

Fae  lime  Hwf has Knswv.
Po.;\} [4_. 5)

Ak koown SBPC

(v—- 5)- m (x-a)

\ ¥ What o it kv  absat  pne e
')’\r\mf 15 va}(f\i' IE ffn/)"\ sF ID ok X=a

o D1 st bk gryh ab ot (2, f@))
\ e Tt N Sopg M= S;[a)




5 (a, )

P,;.n-" l/ 7*'\)('\(\7




Q

[\bw Rbfwl'/\ Pocur /)Nlol{/\,\

\/\/L need 7‘\‘) ’O""( The ef“‘tf" ﬂf‘ tae (A:e
Fogear P ogpn ot o) ~X +54‘~2%x+/>

ot x=2
goluhm

e need o bald Has 2gaatcsn
(v- $6))= @) a)

Pa/i‘[\— Ford ol #he [larts

o .

a = ; +hc} C.J M x~(‘)ilﬁlle( ’A Mf. ﬁd.»l‘
d IC +‘\Ajc/‘ c]

Lia) = §(2) = =2 +a0y=-2302) +15
= - +9y — 16 +I(5
=-§ +36 =76 +1Is

oy,

Bt TR | A V)

= ~3 +hAns s ne ‘r (owrolmn"}l Df pn..,\' 0/‘ TM}W?



$la)=5(2) = |

I‘é{m”’ }(\NN\ Awkt‘( ajd)u\/)mfr(/‘})

Efﬁl Now Assemble +he Eguatos
(Yy=63))= | (x=2) Thigem

(a!\\/efj" P S/‘-’/’( 11\72/‘(:/)/' 1(-:/',\,\

TL\“S agreéa witw  Fawgrapnh !



